ENEE 661 Shrng 2013 Yomeundle 2 .,

| Themrenm c‘dQ Qo-lom\.u-hJ ‘T'ruvn \':o-ge 6 »l;,je_ WL
Cof  leckme Neteo 200

UD\;Y‘%_ “the HINT

onreilable ou lie -

& 'l;?o_a_e |4 : sheorwr that
=\§; (d{: (#; (ﬁ(m)))
JERCREAC LN

= % + €[$3](x) + OCED

Hene Y_-f/ q 7 devsoler —the Tacabi= Lie. Lrocleek
o} vectsr  ields  f ol @7&3&)?— __5%)3(

&
(b-F (9() 7 “’\C- %—Lm-d" (\S tthe Lvecber -Y—Fe. AY .? Mlu“‘cﬁl
ok fime £ ow  Cintlel Gnditia) -

d-

Cans;'(h.n, the me%c,\e— Ckl-hé the ""WUM»- ‘,% ’?WL.JJ.“-.S 5
t‘ru\hskuﬂ"\" “the u.a-ui.c_.jc.-\a frvm Lx:O/ y=0o ; G- 1—(/‘1)
@ ' lj- C)C::O/ Y = L/@:.TPR) L U‘SQ} MATLAS Q.z«}:‘-nﬂ&

tine ’Pw\m-?--a d&mw\f\'n dyvive steor , revese drive
rewene. -s\:w//

P 't; ‘Sv--h.re, 'hﬂ\‘s ‘t:nla(w- Su‘?\mac_
"bGL\... t‘..mh-u-d&'

rewene drive . Cap  Yrou selue e
#’MMA Tn\o\bm-P -T'F 7=, blet & the d7¢ Hﬂ-ﬂ‘uﬂiz__
bebusean. the.  tme Selukyos f



krishna
Sticky Note
A mistake in problem 2 homework 2 - it should have read, from initial (x = 0, y = 0, \theta = \pi/2) to final (x=1, y = 0, \theta = \pi/2). I switched the final coordinates for x and y in the original.

krishna
Sticky Note
Due Monday February 16, 2015
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